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Aufgaben-Quickname: 7433
Aufgabe 1
Berechne.
14 25 30 38 11 4 5 1 2
a) g+ oo b) sT—ar—ar ¢) TP
6 12, 3 4,17 10 s 2 .91
d) 19—+ 19 ¢ 13+35— 39 ) 3-6+1
6 4 , 21 1n, 7 1
g) 337t ar h) 51+91— 97
Aufgabe 2
Berechne.
62,49 . 9 45 22 8 1 5.5 2
a) Tg—i-’m—F’m—vm b) 1—0—217—3;7—21-7 C) 146—116+6—3
95 17 . 16 , 4
d) ST-sItsrto
Aufgabe 3
Berechne.
21 | 7 2, 6 2 . 9 69 . 37
a) —I+1 b) 35+ g9 c) 37+37 d) 31+717
19 | 54 19 | 93 2% |, 64 57 . 83
e) Tt ) 7+% g8 g3t+o3 h) gr+a
N 41, 10 2, 8
i) 57 +57 i) Tt
Aufgabe 4
Berechne.
9 .16 17 , 31 s 1,7 1 61 8 7 2
a) gT+tor —or tor b) s5s—15+15— 75 €) 95— 9995 — 0
9 .5 .1 9 9 .19 3 .1 9 4 1 1
d) ss+tm+ts—1 e) wtm—1T3 f) st+or—31— 11
9 7 .15, 11 9% 3 .6 3 3,17 . 32 37
8 m—mtstma h) -+t a3 ) ot as-
17 .2 , 9 15
) sstste— 1
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Viel Erfolg]!
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